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=1 12 & 2,927,671 93.4% 3,195,604 96.8% A 267,933] A8.4%
— it & B £ 2,646, 065| 84. 4% 2,605,919 78. 9% 40, 146 1.5%
# oA R B & 127,985 4.1% 218,147 8.4% A 150,162 A54.0%
REFERNREE 152,763 4.9% 311,538 9.4% A 158,775 Ab51.0%
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%) 3 4 A 4,473 0.1% 1,565 0.0% 2,908 185.8%
FlFRUBEY S 4,473 0.1% 1,565 0.0% 2,908 185.8%
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e 2 & 198, 775 6. 3% 105, 658  3.2% 93,117 88. 1%
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] 4 A 832 0.0% 221 0.0% 810 3681.8%
B O M F 231 0.0% 221 0.0% 1 4. 5%
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% A =) & 3, 135, 183| 100. 0% 3,302, 849( 100.0% A 167,666 A5 1%

TS FE TH4EE W K EEE
REEEWN Fm HBEtE REZEHGB FA #At (A—B)/B
3 = = 268 0. 0% 203 0. 0% 65 32. 0%
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fa % = 35,7091 1.2% 31,163 1.0% 4,546 14. 6%
— kB E ZF 35, 661 1.2% 31,115 1.0% 4,546 14. 6%
- S = 48| 0. 0% 48  0.0% 0 0. 0%
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" i = 1,360,000] 45.7% 0l 0.0% 1, 360, 000 5ig
" 3 & 1,360, 000 45.7% 0] 0.0% 1,360, 000 5ig
% H =) & 2,973, 882| 100. 0% 3,104,074| 100.0% A 130,192] A4 2%




